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A n'0 to remember these is then|2owa add up to the same XMUnaas P17 asin
(:nnpP Naw) X722T NNPN 7P AN e

There is one more place in 0”¥ with

“"

"IRIMYI 21 vs. W27 WL pnee

When you find it you can replace it with the 0" T one which according to the nia7zon they don’t
argue.
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We said earlier : IN2 17 X'Un7 2NN N'2NN NXIN 2TINN 21 X N0 02 7NX 7R
And the najpon of the Xanais that it is NNy TNl NNAIA IN221 [MNN 7Y DMION 17D "X '001wA

N78Y: What can a |nn do if the father-in-law was 101X all of his assets to the |nn and he paid
for all of the wedding expenses (food, music, everything)?
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Coming soon:
Example
“Remember to Remember”: (:a* NIMIN) N¥Mp 7'n'ol

Explanation: Xna there says that a finger in salt brings back the learning, i.e. it is an aid to
remember the learning. Itisa 'o1' 71 nTIN' ‘1 'Nn if one finger not two or two fingers and not
three. A way to remember this npiI7nn is in doing nx¥Mmj7 the |nd bent down his ring finger.
The argument itself is about how to properly do something which will aid in remembering your
learning.

Hence: "Remember to Remember”: “nx¥xmjp J'mrolr”



